
21-00000-006 Nut M6 Din 934 4 pcs

21-30001-666 Screw with wascher M6x16 ISO 7380 ZN 10 pcs

21-50001-018 Washer fi6x18 Din 9021 20 pcs

21-30004-016 Screw M6x16 Din 933 16 pcs

21-30001-666 Screw with wascher M6x16 ISO 7380 ZN 10 pcs

21-30001-612 Screw with wascher M6x12 ISO 7380 7 pcs

Table of delivery

AF-CAP00-100 Capri fastening parts

VE
RS

IO
N

: Q
1


	Sheet1
	Drawing View1


